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QUESTION 1

In an experiment, the time taken for an application to complete a given task is measured using a stopwatch. Which
THREE of the following make up the total time? (Choose three) 

A. The time spent waiting for I/O operations 

B. The time taken to download the program via the debugger 

C. The time taken for memory accesses 

D. The time taken for the CPU to execute instructions 

E. The time taken to compile the source code 

F. The time taken to perform instruction tracing 

Correct Answer: ACD 

 

QUESTION 2

An advantage of removable flash memory over built-in flash memory is that: 

A. Storage can be easily replaced, for example to increase capacity. 

B. It is quicker to access, providing far greater bandwidth for read operations. 

C. It has a longer life, indicated by being rated for a higher number of write cycles. 

D. It takes up less physical space in a device, and does not require any space on the printed circuit board. 

Correct Answer: A 

 

QUESTION 3

What type of debug point would you set when debugging flash memory or ROM? 

A. Start point 

B. Step point 

C. Hardware breakpoint 

D. Software breakpoint 

Correct Answer: B 

 

QUESTION 4
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Which of the following would enable the use of a symmetric multiprocessing (SMP) operating system? 

A. A dual-core Cortex-A9 processor 

B. A Cortex-R4 processor with a Cortex-M3 system controller 

C. A Cortex-A8 processor with a graphics processing unit (GPU) 

D. A uni-core Cortex-A5 processor with a digital signal processor (DSP) 

Correct Answer: A 

 

QUESTION 5

Assume a little-endian system. 

What is the value of R5 after the execution of the following piece of code? 

A. 0xBB 

B. 0xAABBCC22 

C. 0x102 

D. 0xCC 

Correct Answer: A 

EN0-001 Practice Test EN0-001 Exam Questions EN0-001 Braindumps

Powered by TCPDF (www.tcpdf.org)

EN0-001 Practice Test | EN0-001 Exam Questions | EN0-001 Braindumps                                3 / 3

https://www.pass2lead.com/en0-001.html
https://www.pass2lead.com/en0-001.html
https://www.pass2lead.com/en0-001.html
http://www.tcpdf.org
https://www.pass2lead.com/en0-001.html
https://www.pass2lead.com/en0-001.html
https://www.pass2lead.com/en0-001.html

